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1) The Rockets rans this action in transition off of a defensive
rebound.

2) James Harden grabbed the rebound and brought the ball up
the right hand side & reversed it to the trailing 4 player.

3) Here the 3 player makes a back cut, which will draw the
attention of the helpside defense on the other side.

1) With the 4 player with the ball at the top of the key, the other
post player goes and sets a screen for the wing in the corner.

2) Immediately, the wing goes & sets the screen for Harden near
the top of the key.

3) This is a hard action to guard, because the Rockets have
screened for the screener which eliminates the help.
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1) Harden of course is one of the best 3pt shooters in the NBA. He
knocks down the shot here.
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